Prepared by DYS			-						
Solicitation No.: B-029-RA	29-RA Contract No.: C-XX-XXX-XX SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS					8			
				Alsay, Inc. 3359 S. E. loop 410 Antonio, Texas 78222			Peerless Equipment 5400 New Hwy 90 West San Antonio, Texas 78227		
PROPOSAL:	Well Mitigation for City of Nixon			Alsay, Inc.) S. E. loop onio, Texa			sss Equ w Hwy nio, Te		
	Job # 15-0125				4	359 Anto	serle	0 Ne	
TIME &	2:00 P.M.			Alsay 3359 S. E. San Antonio,			Pe 5400 San A		
DATE:	October 14, 2015								
Item No.	Description	Unit	Quantity	Unit	Price		Unit Price		
1	Remove Pumping Equipment from Well and Bail and Dispose of Oil from Water Surface	EA	2	\$	3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	
	Perform a Pump Performance Test of the Existing								
2	Pumping Equipment Disassemble and Clean Existing Pump Bowl and	EA	2	\$	600.00	\$1,200.00	\$500.00	\$1,000.00	
	Column Assembly, Replace Existing Paring Bowrand Wear Rings, Provide and Add a Stage to the Bowl Assembly, Provide New Pump Shaft and Reassemble								
3	the Pump Bowl Assembly	EA	2	\$	7,000.00	\$14,000.00	\$5,392.00	\$10,784.00	
	Furnish 100-ft of New Pump Column Assembly (10"x2.5"x1.5") at Each Well Site Including the Top								
4	Special Joint	EA	2	\$	6,500.00	\$13,000.00	\$7,135.00	\$14,270.00	
5	Reinstall Pumping Equipment in the Wells	EA	2	\$	2,500.00	\$5,000.00	\$4,000.00	\$8,000.00	
6	Furnish and Install 300-ft of New Air Line and Pressure Gauge at Each Well Site	EA	2	\$	800.00	\$1,600.00	\$700.00	\$1,400.00	
	Furnish and Install New 460V, 125 HP Motor with								
7	WPI Enclosure Remove Existing Equipment and Furnish and Install	EA	2	\$	10,700.00	\$21,400.00	\$10,134.00	\$20,268.00	
8	New Starter Equipment, Cable and Conduit at Both Wells Sites	LS	1	\$	26,500.00	\$26,500.00	\$26,823.00	\$26,823.00	
9	Make all Equipment Operational	EA	2	\$	900.00	\$1,800.00	\$1,775.00	\$3,550.00	

Prepared by DYS			-						
Solicitation No.: B-029-RA	Contract No.: C-XX-XXX-XX SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS					7			
					2	3359 S. E. loop 410 San Antonio, Texas 78222	Peerless Equipment 5400 New Hwy 90 West San Antonio, Texas 78227		
PROPOSAL:	Well Mitigation for City of Nixon				Alsay, Inc.	io, Te Te	s Equ v Hwy io, Te		
TIME &	Job # 15-0125				A	3359 S an Antor	Peerles 400 Nev n Anton		
	2.001.001	2:00 P.M.				Sa		Sa	
DATE:	October 14, 2015		1			[
Item No.	Description	Unit	Quantity	Unit I	Jnit Price		Unit Price		
10	Perform a Pump Performance Test	EA	2	\$	600.00	\$1,200.00	\$925.00	\$1,850.00	
11	Perform a Camera Survey of a Well	EA	2	\$	1,200.00	\$2,400.00	\$1,850.00	\$3,700.00	
12	Rig Time Approved by SAWS	HR	30	\$	200.00	\$6,000.00	\$300.00	\$9,000.00	
13	Furnish and Install 20-ft Joint of Pump Column Assembly (10" x 2.5" x 1.5")	EA	12	\$	1,300.00	\$15,600.00	\$1,427.00	\$17,124.00	
14	Furnish and install a 20-ft Joint of 10-inch Column Pipe and Coupling	EA	6	\$	650.00	\$3,900.00	692	\$4,152.00	
15	Furnish and install a 20-ft Joint of 1-1/2-inch Lineshaft and Coupling	EA	6	\$	230.00	\$1,380.00	216	\$1,296.00	
16	Furnish and install a 5-ft Joint of 2-1/2-inch Oil Tubing	EA	25	\$	40.00	\$1,000.00	47	\$1,175.00	
17	Furnish and install a 2-1/2-inch x 10-inch Oil Tube Stabilizers	EA	10	\$	20.00	\$200.00	14	\$140.00	
18	Furnish and install a 1-1/2-inch x 2-1/2-inch bearings	EA	30	\$	65.00	\$1,950.00	55	\$1,650.00	
19	Replace Existing Impeller with a New, Trimmed Impeller (Goulds 14 RJMC)	EA	2	\$	870.00	\$1,740.00	730	\$1,460.00	

Prepared by DYS			-					
Solicitation No.: B-029-RA	Contract No.: C-XX-XXX-XX SAN ANTONIO WATER SYSTEM					5		
	P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABLUATION OF BIDS				ن	op 410 cas 7822:	pment	5400 New Hwy 90 West San Antonio, Texas 78227
PROPOSAL:	TABULATION OF BIDS Well Mitigation for City of Nixon			Alsay, Inc. 3359 S. E. loop 410 Antonio, Texas 782			Peerless Equipment 100 New Hwy 90 We Antonio, Texas 782	
TIME &	Job # 15-0125 2:00 P.M.				Alsay, Inc. 3359 S. E. loop 410 San Antonio, Texas 78222		Peerl	5400 N San Anto
DATE:	October 14, 2015		1			Γ		T
Item No.	Description	Unit	Quantity	Unit	Price		Unit Price	
20	Cash Allowance for Electrical Service Upgrades (Reimbursed at Invoice Cost not to Exceed)	EA	1	\$	20,000.00	\$20,000.00	20000	\$20,000.00
21	Furnish, Install and Remove Temporary Discharge Piping, Road Crossings and Warning Signs to Convey Water During Pumping at Both Well Sites	LS	1	\$	12,400.00	\$12,400.00	\$4,000.00	\$4,000.00
_	SUBTOTAL					\$158,270.00		\$157,642.00
	SUBTOTAL SAWS JOB NO 15-0125					\$158,270.00		\$157,642.00
	LINE ITEM "A" SUBTOTAL BASE BID					\$158,270.00		\$157,642.00
100	MOBILIZATION					\$5,000.00		\$9,850.00
	SUBTOTAL MOBILIZATION					\$5,000.00		\$9,850.00
	TOTAL BID AMOUNT (LINE Item "A" & Mobil	ization)				\$163,270.00		\$167,492.00
CALENDAR DAYS TO COMPLE	TE					100		100

[1]

[2]

Prepared by DYS			-				
Solicitation No.: B-029-RA	Contract No.: C-XX-XXX-XX						
	SAN ANTONIO WATER SYSTEM				. 4		
	P. O. BOX 2449			pany	n Rd 5-482		
	SAN ANTONIO, TEXAS 78298-2449			E E	995 995		
	TABULATION OF BIDS			Friedel Drilling Company 555 City of Hochheim Rd. oakum, Texas 77995-482			
PROPOSAL:	Well Mitigation for City of Nixon			Friedel Drilling Company	of Ho exas		
	Job # 15-0125			del D	, T , City e		
TIME &					555 City of Hochheim Rd. Yoakum, Texas 77995-4824		
DATE.	October 14, 2015						
DATE:	October 14, 2015						
Item No.	Description	Unit	Quantity	Unit Price			
	Remove Pumping Equipment from Well and Bail and						
1	Dispose of Oil from Water Surface	EA	2	\$4,500.00	\$9,000.00		
	Perform a Pump Performance Test of the Existing						
2	Pumping Equipment	EA	2	\$1,500.00	\$3,000.00		
	Disassemble and Clean Existing Pump Bowl and Column Assembly, Replace Existing Bearings and						
	Wear Rings, Provide and Add a Stage to the Bowl						
	Assembly, Provide New Pump Shaft and Reassemble						
3	the Pump Bowl Assembly	EA	2	\$3,410.00	\$6,820.00		
	Furnish 100-ft of New Pump Column Assembly						
4	(10"x2.5"x1.5") at Each Well Site Including the Top Special Joint	EA	2	\$7,936.00	\$15,872.00		
4		LA	2	\$7,550.00	\$13,872.00		
5	Reinstall Pumping Equipment in the Wells	EA	2	\$4,500.00	\$9,000.00		
	Furnish and Install 300-ft of New Air Line and						
6	Pressure Gauge at Each Well Site	EA	2	\$1,500.00	\$3,000.00		
	Furnish and Install New 460V, 125 HP Motor with						
7	WPI Enclosure	EA	2	\$10,540.00	\$21,080.00		
	Remove Existing Equipment and Furnish and Install						
8	New Starter Equipment, Cable and Conduit at Both Wells Sites	LS	1	\$45,600.00	\$45,600.00		
				+ .0,000.00	÷ .2,223.00		
9	Make all Equipment Operational	EA	2	\$4,000.00	\$8,000.00		

Prepared by DYS							
Solicitation No.: B-029-RA	Contract No.: C-XX-XXX-XX SAN ANTONIO WATER SYSTEM						
	P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS				Friedel Drilling Company 555 City of Hochheim Rd. Yoakum, Texas 77995-4824		
PROPOSAL:	Well Mitigation for City of Nixon			Orillin	of Ho Fexas		
TIME &	Job # 15-0125 ME & 2:00 P.M.				Friedel Di 555 City c Yoakum, Ti		
DATE:	October 14, 2015						
ltem No.	Description	Unit	Quantity	Unit Price			
				4			
10	Perform a Pump Performance Test	EA	2	\$1,500.00	\$3,000.00		
11	Perform a Camera Survey of a Well	EA	2	\$3,000.00	\$6,000.00		
12	Rig Time Approved by SAWS	HR	30	\$300.00	\$9,000.00		
13	Furnish and Install 20-ft Joint of Pump Column Assembly (10" x 2.5" x 1.5")	EA	12	\$1,588.00	\$19,056.00		
14	Furnish and install a 20-ft Joint of 10-inch Column Pipe and Coupling	EA	6	\$964.00	\$5,784.00		
15	Furnish and install a 20-ft Joint of 1-1/2-inch Lineshaft and Coupling	EA	6	\$272.00	\$1,632.00		
16	Furnish and install a 5-ft Joint of 2-1/2-inch Oil Tubing	EA	25	\$68.20	\$1,705.00		
17	Furnish and install a 2-1/2-inch x 10-inch Oil Tube Stabilizers	EA	10	\$12.50	\$125.00		
18	Furnish and install a 1-1/2-inch x 2-1/2-inch bearings	EA	30	\$68.00	\$2,040.00		
19	Replace Existing Impeller with a New, Trimmed Impeller (Goulds 14 RJMC)	EA	2	\$900.00	\$1,800.00		

Prepared by DYS					
Solicitation No.: B-029-RA	Contract No.: C-XX-XXX-XX SAN ANTONIO WATER SYSTEM				. 4
	P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS			Friedel Drilling Company	yoakum, Texas 77995-4824
PROPOSAL:	Well Mitigation for City of Nixon	Friedel Drilling Company 555 City of Hochheim Rd. oakum, Texas 77995-482			
	Job # 15-0125			edel I	, mp
TIME &	2:00 P.M.			υ Ξ. Υ Ξ.	Yoah
DATE:	October 14, 2015		1		
Item No.	Description	Unit	Quantity	Unit Price	
20	Cash Allowance for Electrical Service Upgrades (Reimbursed at Invoice Cost not to Exceed)	EA	1	\$20,000.00	\$20,000.00
21	Furnish, Install and Remove Temporary Discharge Piping, Road Crossings and Warning Signs to Convey Water During Pumping at Both Well Sites	LS	1	\$7,823.00	\$7,823.00
	SUBTOTAL				\$199,337.00
	SUBTOTAL SAWS JOB NO 15-0125				\$199,337.00
	LINE ITEM "A" SUBTOTAL BASE BID				\$199,337.00

100	MOBILIZATION	\$9,967.00
	SUBTOTAL MOBILIZATION	\$9,967.00
	TOTAL BID AMOUNT (LINE Item "A" & Mobilization)	\$209 <i>,</i> 304.00
CALENDAR DAYS TO COMPLET		100

[3]